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Read the following instructions carefully before yon begin to answer the questions.
This Bookiet contains questions in English as well as iz Hindi Language.
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= INSTRUCTIONS TO CANDIDATES

I This Bookler"contains 200 questions in all comprising the
following four-parts :
Part-A: Geiieral Intelligence & Reasoning
‘Part-B: General Awarencss
Part-C: Quantitative Aptitude
Pari-D: English Comprehension

{50 Questions)
(50 Questions)
(50 Questions)
{30 Questions)

case of discropancy; the English version will prevail.

All questions are compulsory and carry equal marks.

The paper carries negative marking. 0.25 marks will be deducted
for each wrong answer,

You will be supplicd the Answer-Sheel separately by the

Invigilator. ‘You must complete and code the details of N,
Rall Number, Ticket Number aud Test Form Number in-the
Answer-Sheet carefully. You must also put your signature and
Lefi-Hand thumb impression on the Amswer-Sheet at ihe
prescribed place  before  you actually  start - answering the
questions, These instructions must be fully complied with, failing
which, your Answer-Sheet will not be evaluated and you will be
awarded *ZERQ" mark.

Amswers gust be shown by completely blackening the
correspondjng circles on Side-II of the Answer-Sheel against the
,relevant u'_'xsilon number by Black/Blue Ball Point Pen only.
! Answers which are not shown by Black/Blue Ball-point Pen will
ot be awabded any mark.
/A machine will read the coded information in the OMR Auswer-

A7 aeet. In case the information is incomplete or different from the
~information given in the application form, such candidate will be

« awarded *ZERO’ mark.

= 1he Answer-Sheet must be handed over to the Invigilator befere

#you feave the Examination-Hall,

wFailure fo comply with any of the above instructions will
Tender a candidate liable to such action / penally as may be
deemed fit. -

The manner in which the different questions are to be answered
has been explained®at the back of this Booklet, which (Page No,
28), which you should read carefully before actually answering
the questions.

Answer the questions as quickly and as carsfully as you can.
Some questions may be difficult and others easy. Do not spend
too much time on any question. :

No rough work is 1o be done on the Answer:Sheet. SPACE
FOR ROUGH WORK has been provided at the back of this
Booklet.

. “Mobile phones and wireless conmunication devices are
conmpletely banned in the exandnation halls/rooms. Candidates
are advised not to kesp mwbile phonesfany other wireless

¢ conununication devices with them even in switched off mode, in

their own interest. Failing to comply with this provision will be
considered as using unfair means in the examination and action
will be taken against them including cancellation of their
candidature.” .
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FHAtQaRl & AT srader
. 5W qRa@r d w200 v E, ol RPre@a ax
o WAw g ) #
HELF . WA dfedeal W asu@a (50 wwr)
NG : WA SiTerHiY {50 9%)
P13 aRAPTEE 3R (50 %)
W 3t oReE. (50 w2
. 3N 3R R arw # dam e oo gfasmdt weat of
g RIS gt H Al 7 300N Raor s gem)
. W et e § aur qad avey 3w ¥
Wl GF W ADHE e gRMeed A Set F A
. 0.25 37% SHIET S| _
AU ZERT 39l Sear-afiwT Arawr U & sl e
RFT A TRAmEd & dquR CAEdE 3 amg
TrR, Rewe a7 it Wi wear Baga e vl
& S aRds A YE F A ugd Seacafer oy
eifia w3 39 Jio gramei wa A g ¥ s
@ AuEr s 3/ @] suded STARRI I qift ate
®I ST

T dete TR

I T U, 3R NGF Sead-aiie
A @ 3y o 3iF Rar s :
6. Feal- 3va? Side-ll 1 WA @& F AHA

R & wrata MEN Wil @ Sad wAsR i
9 91 @ 9l G Wl ah REnd| S aesR A
FRAS diGige 9 § A s Snld, saw faT @IS
-
L UL, Scad-y 3 S [T & T HY
uﬁnﬂla‘f&mm_ga:zm%a‘a%umﬁﬁmé

o A Wewr P, AW gl @ e siw R
8. glam-draer ol ¥ wgd wleell & searvRer Shus
R 8 R el s
9. 74 - Al U a1 qretet o Ly
FHHIEAR 9C RIS eiad@ &1 w1 awdl § a1 s

far srwwar 1 7 .

10.R3fm wedll & seov 3§ R g9 affmer & a8
(Yoo der 28) A Y ge RS A ¢ & oS & 5@ aw
Sl & 3ol & ¥ YBd CAwdT 9

11961 & Sea¥ oaell 5o F 3% ar wamgds &) 56
ST A G $S Fiod E- TN e WRer ST ded
3@ gHT & Fa| : ’

12,915 I ®1d Scal-SiasT 9K a8 &gar
TR RA-AfeawT &GS far war # iz

T & Flagew, i aur AR TR AT
%ﬂ?%?’l TGl F I 3eA foa # wene &
RaT #iw v o avd wmr o @ s wEwE W

& mlamsa wlalsal = Farw e areT
ma%ﬁ##ﬁ##a@amfwmm
sier T 3o feg sra@g 7 sweal, =t s=afiar
W FTEF algar | :

L

g FT F v

g

3§

]

w__av_o__ ni_ anhawaa


http://sschelp.in/

Downloaded from SSChelp.in

PART-A : GENERAL INTELLIGENCE &
REASONING (N5 : ¥d gdscal wq

asdiea) -

I. How many triangles are there in the ﬁgul-'e?

W ngta 7 fras Begar &2 i
(A)28 (8)20
(C) 24 D) 14 '

2. Name a single letter, which can be prefixed to the
following-words in, Drdcr to obtain enlirely new
words?

ﬂwwymamﬁﬁqﬁm#aﬂamm
*ﬁwﬁmﬁﬁam%mmmm%‘?

TILL TABLE PILE TAB PRING

WS st Ry T
(©H ®)C

/! F ’

Directions :
In the following Six Quc:,luons select the relawd
wordflc’t[bmfnumber from the given alternatives.

r Wy - Prfafaas weet #, B v Rweut F &

wrafeud Ysa/IERIAEar & e |
3. Hacmatology : Blood : : Phycology : 7
sfoRasner - e - - Saraf@are -
(A) Fishes / #ieselr (B) Discases / a1
(O Fungi / as (D) Algac / Sarer
1
& 258253 Y. =
(A) 143 (B) 243
(C) 293 (D) 183
5. AEFJ: KOPT ::?:QUVZ
(A) GLKP (B) HLKP
(C) GKLP (D) HKQL
]
6. MAN:PDQ::WAN: 2 ‘
(A) YDQ ~ (B) NAW

(©) ZDQ ®) YQD

7. DxH:4x8asMxQ:__? P
DxH:4x8,a@tMxQ: 2

z -
—_—

(A) 14 % 18 @) 13 x17
(©) 12 x 16 D) 12 x 17
8. PndeofLions::___?  of :}v.-tt-.».= .
AW T 913 ﬁ'i?mﬂa?r ol
(A) Bunch / ol (B) Herd / s :
(© Clowder /7733t (D) School /¥Fel
9. Identify the diagram that best represents the

relationship among the classes given below:
Animals, land animals, sea animals

AT IR mﬁ%&ra’rﬁl‘&amé-ﬂfﬁ?ﬁa:é’ra
walfte weaw & gufarg| 4%
m,mm,agam

4) . ()
© ® D

10. If+= x|, ==+ x=4 + = — then which is the
correct equation out of the following?

R +=x, ==+, x=+4 = - qr Pwafaf@ed ¥
U it A1 WHFHIOT [E 27
(A) 18+6—-4 x2+3=26

B) 18+6+4-2+3=22 -
(C) 18 x6-4+7 x8=47
M) 18-6x7+2+8=63
Directions :

In the following Five Questions, select the missing
number from the given responses.

=ider - Mrffaa s ueal 3, Be s fReeat @
ST 3 Frd ST
(1. Select the missing number from the given responses.

ﬁ‘ﬁhﬂﬁ?ﬁm‘%ﬁﬁqmaﬁmaﬁﬁm
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(A) 18 ®) 16

(C) 12 D)y 17

12. Select the missing number from the given responses.

few are el 8 F e 3iw v i)

7 5 3

8 4 9

2 8 %

112 160 162

(A) 12 ®)8
()4 D)6

13. Select the missing number from the given responses.
f&w are et 31 A qea 3w sira e

g =18 .

13 15" 17

10 12 14

14 16 18

1 12 o
(A) 15 B) 14
(©) 21 (D) 22

14. Select the missing number from the given responses.

f&wmﬁmﬁﬁﬁqaﬁﬁmaﬁﬁm

®

(A) 97 (B) 967

(©) 9107 (D) 1097
L]
L]
15. Select the missing number from the given responses.
fRw 1w Reeal 7 | goa 3is wa M)
32 2|-i] |5 |5
4 j24) [-24] o]

(A) 30 ®) 11

©0 . @) 1

i6. I + stands for division, » stands for addition; —

3

stands for multiplication; = siands for subiraction,
" which of the following is comect?

Ir?c.*+$ranim%;xa-r3n‘rrﬂ;§: ~ 1 37%) FpoTT

&« @ wer &, o Pemiai@a A S = wd 87
346 x6+4-5+3=74

b.46-6+4 x5+3=7]

C.46+6 x4 =5+3=755

d. 46 x6 —~4+5+3=70.1

(A)b B)d

©c .

i::'-_&'ll)a

 17. Which one of the given responses would be a

meaningful order of the following?
et Jeeal F @ sla ar Reeaaia ¥ g ezl
&1 A HA getar 87

1. Elephant /grefly 2 Catfiaear

3. Mosquito /HZGX + 4. Tiged/arar 5. Whale/=2er
(A)1,3,5 4,2 (B)2,5 1,43
(©)3,2.4,1,5 ®)5,3,1,2, 4
- .]}irec'ﬁons -

“in the following Six  Questions, find the odd
word/number/letters/number  pair li'nm the given
alternatives.

ider - PrfaRa 6 weat &, Ru oo fAeevi &
ﬁwaﬁmfm&'mwgﬁm
13- Find the odd word. / T ereg gfére |

(A) Evening / @y (B) Night / ui Ty
(©) Noon / gimgx (D) Morning / siar:
19. Find the odd number pair. 7 Tawar dear gan gfae|
(A) 64 : 48 (B) 80 ;60
(©) 96 80 (D) 104 : 78

29. Find the odd letters pair. / {57 3ie5¢ Joa giaw|

(A) EDGH (B) CBEF

(C) GFHJ T X(D) HKL

21 Find the odd letters pair. / F&sa1 3087 P T
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(A) HSKP (B) DWFU

(C)KQNN (D) EVHS

22. Find the odd number. / fawa Wear gRiT|

(A) 5061 i (B) 4025
(C) 7202 (D) 6023

23. Find the odd word. / s g 9T

(A) Fratemity / SirS=mr (B) Equality / wHAr
(O) Liberty / Taa=ar (D) Society / AT
Dircclim:s : ~

In the following Two Questions, which answer
figure will comipiete the pattem in the question
figure?

gy : PR 2 et @, sv W seaw
P uRaT INFIA & gfasw & g FEh ?

24. Question figurc: / 9 H@ﬁ:

Answer figures: / 3?1?3“?%1‘1‘7:

“ |7 N

-

©

(D)

N

23. Question figure: / R I,

Answer figures: / 3ca¥ 31135%’21?:

) (B)
" |FE i

(©) ®)
7 =s

Directions :

In the following Twe Questions, one statement is
given followed by two Conclusions, I and IL. You
have to consider the statement to be trugseven if it
seems to be al variance from commonly known facts,
Y6u are to decide which of the_given conclusions
can definitely be drawn from the given statement.
Indicate your answer. =~ T

@&er : WeEafaf@a 2 gt 3, ves avaer Rar
2. B 3wt gt fassd 1 3tk 11 S o )
e R &0 ¢ & aegen.wew §oaw 9w
WA i a2l F Biest gellea @1 &1 3ngar
Aot & § & Re av asaca o @ o9
AT w9 371 wd sy Rasrar s awar &1 399
3ca¥ & Afese @S -

26. Statement : Aggressive animals can be trained with
care and affection to behave gs the occassion
demands. .

Conclusions I : Trained dogs cannot be aggressive.
I1 : Animals are always aggressive unless care and
atfection is given to them.

AEAST 2 IHHS A & HAT & AR
EATER H1 w1 FfRieor O earer ik caw & far
sTasargl W

fersad 1 - TRITETA Fed 3T gt & W |

I :SATaT §AU 3o gt & Sel Sef O earer
w2 7 farare)

(A) Only II follows. / Faer farsene I Fraserar &1

(B) Neither I nor IT follows. / &7 forses 1 3itcsT & 11
Frsaar g

Both | and 11 follow. / fsawd 1 3iix I &t
Swera €1
M) Only I follows. / 3aer sy | fyererar 21

27. Statement : Every school should promote
partnerships that will increase parental involvement
and participation for promoting the growth of
children.

Conclusions I : For the growth of the children,
parents should be involved in wvarous school
activities.

IT : Involvement of parents in_school activitics has
no influence om the growth of the children.

awE G T W WG B T S
ATRC SEW F=al & @y & Iovrger & arar-Tar

Test Form No. 1208763
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< faederd 3w saligrd &2

frsed 1 : aal & Ay & fAC #rar-fRar &t
oo 1 Rt AR 3 Reda garaiize)
Il T ) afararaal 3 Arar-Rar & Rl
o1 w3 TR TS T Fel agar |

(A) Both 1 and 11 follow. / foyrsss 1 38 11 &t
Swad g1

Only I follows. f%aﬂﬁwﬂ I fSmaan gl

Neither 1 nor 11 follows. / 5 forsesd I 3t A Q11
Ssdar gl

(D) Only Il follows. / &ad fersay 1l Aaerar 21

28. '§u1uia rode hcr scooty northwards, then turned left
and theén again_rode to her left ‘4 km. She found
herself exactly 2 kms west of her starting point. How
far did she ride northwards initially?

AT st F5EY O 3ear R Ay 3R g | da ag

B)
©

ard 1t 3T RS 3T A 4 Rl Tl wend 1 |

T TG T IS IS T § 2 Felh aRaw
31 qram| 38 9T I 3 far I et g %
S AT -

(A) 6 knv TnalY (B) S kv fmefi
(©) 2 i/ FRalY (M 4 kn/ 5357
Directions :

In the following Two Questions, a series is given,
with one term missing. Choose the correct
alternative from the given ones that will complete
the serices.

Pge : Prafaf@d 2 wal A, v e Ja g,
e v gg e 1 R ae Rl F F ag 7@
T o TTAT S IR B G

29. 3,5,9,17.2.

(A) 26 (B) 33

(©)42 (D) 65 .
30. 4,6, 10, 16,24, 2

(A)34 \ ®) 30

(C)40 : (D) 28

a  reworw il BORTET

31. In a certain code "MOUSE" is written as "PRUQC".
How is "SHIFT" wrilten n that codc‘?

forddY @ig 31 "MOUSE" & " PRI‘I_S'_C:_" fowr siar
geierg 3 "SHIFT" &1 & & sirean?

(A) VIIDR (B) RKIVD

(C) VIKRD D) VKIDR

32. Pinky walks a distance. of 600 mur. towards ecast,
turns left and moves 500_mitr, therr turns 1l and
walks 600 mitr. and then lurﬁs leit again and moves
500 mtr and halts. At what distance in metres is she
from the starting point? - [

Riehr & R 37 600 FHrex #r gfi T §, BT e
H 500 e gerch @, T & ag @id 7z 600
#Hrex wrerc @ 31 R & g s gt S00 ey
me%lwmméﬁﬁaﬁm
Gyer o

(A) 500 .° (B 600

(©) 0 (D) 2200

33. Find out the number of circles in the given figuie:

&Y a1$ rpia 3 geal i dear e fiiw

(A) 14 ) 16

o) 17 () 18

34. From the given answer figures, select the one which
is hidden/embedded in the question figure:

& 71 3cad Jsiadl F ¥ & wwla gffe S
mawﬁﬁgﬁgﬁﬁﬁagz

Question figure: / 9% 3G Ta:

*  Answer figures: / 3ca3 HTHTaar:

Test Form No. 1208763
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(A) (B)

(D)

= |
=] “[a
Directions :

in the following Two Questions, which one set of
letters when sequentially placed at the gaps in the
given letter series shall complete it?

Tder - Reafaf@a 2 weel 3, e & Sia ar
WHE @rell FAI 9T FHAAT W@ § G 71§ 3w

«)

QAT Y G HLIN?
35. 4 — —dba - —bead — —da — —od
(A)beedbeab — T _ (B)aabbeedd
- s T &
(C) cbeddeba (D) abcddcba
36. ccbab _caa _beecc —a —
(A) babe (B) babb
() bbba @) baab
37. Using the following code and key decode the given
coded word: 13
Code:L X PZJ Y QMNB |
Key: b ae sp v h' i gl

Coded word : ZBYXMNQB
Trafat@a @rs 3T Hir &1 uAier s e

2T ueg & Aaf3a Hifso:
FE:L XPZJYQMNGB
Hf: b aecs pr h ivgt
2 Teg : ZBYXMNQB

(A) struggle (B) height .

(C) strength (D) straight

38. The higure given on the left hand side is folded to
Torm a box. Choose from the alternatives (1); (2), (3)
and (4) the boxes that is similar to the box formed

ars 37 & ot angy w1 aierd @ & e HE
arar ¥ Be e @eedt (1), 2), B3R @) A F &
aled @i GfaT S 9 gU ale & e el

D 6D (P (7

(2 (4
-
=4
¢ -

(A) (1), (3) and (4) only / (1), (3) 31T (@) 7=
(B) (2) and (4) only / (2) 3T (4) AT .
) (1)and (4) only / (1) 3T (@) FiT

D) (2)and (3) only f(”)3ﬂr(3)zqr-:r

39. Choose the correct alternative t lo cumplcu, the serics.
Lily, Daisy, Datura, 7

e ﬂ‘{&*ﬁmfaqaﬁﬁmﬁm
forelt, 35, e, :
(B) Sun

(A) Hibiscus / 7138 Flower  /
(©) Jasmine / THT (D) Marigold / dier

40. Seven persons A, I3, C, D, E, F and G are standing in
a straight line.
D isto the right of G.
C i1sbetween A and B.
E is between F and D. . '
There are three persons between G and B.
Who is on the extreme lelt?

Wasd™Fa A, B, C, D, E, F 3i¥ G ves d@iely afga i
ECER |

D, GFHF e 3T &I
C,ARB&HATFE
E.F3iRD&EHTTE

G AR B & e & cfi= eafaa €1
faerger arg 30T Sl @sr @Y
A) G B)B
©D D) A

41. A picce of paper is folded and cut as shown below in
the question figures. From the given answer figures,
indicate how it will appear when opened.

fid ge nplaal 3 REw smER sersr @
HigHT Ficel AUl @idsl & &g 98 g 3cal
i Shar fearg &an? = ¢

Question figure: / W Jrgpia: :

‘i‘est Form Nc:. 1208763
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samaad

N
§ L A ’
Answer figures: / 3ca¥ 3’1'@%73'? e
SIEAE: ® [#T%
Qi 1%
© % i ] @ {2
Q%  id%
In the fig:
Q rcprcscnts all quadrilaterals
K represerits all Kites
R represents all Rhombus

P represents all Pnralh.logram
The statement Rhombus is also a Iutc. can be
desceribed as

G ERE
Q @l =il & geifar g
K @3t 99t ol geitar 21
R w3l weradeisi & geiarg |
P g&i Farrard arfsii whr gifar g |
g U @ o TIHAGIST 3 U T § SH G
afoia forar ST aShar g -
(A) PorRisnothing but K .
PATR 3R G =gl K& g
(B) P andR is nothing but K .
P 3R R3IRFE A, K g1
Q) l’os;-_ft( iz nothing but R .
. PaK3RFwaEL RAT

(M) P and K is nothing but R .
P 3R K3 s &g, RATT

43. In a row of men, Manoj is 30 ™ from the right and

Kiran is 20 ™ from the left. When they interchange
their position, Manoj becomes 35 " from the nc,hl
What is the total number of men in the row?

QST I e el 3, magmmoaww
¥ 30T RreoT a7 30T I 208 TR 9N ST & g
AT GEA o 8, Al FHedlol &S 3R W 358 2471 &%

&SI @1 deeE, 39 diea & oSl T Hor wEar

(A) 54 ®) 45"
©3x4 ®) 44

| 44. Unscramble the following lctters to frame a
meaningful word. Then find ouwt the comect

numerical position of the letiers:
el WeE e & foe Peafiiada seR @
egafaa Sifee 3M_aw e & of 3w

ufa sra St

B CUSMELRN
. 2 34 5.567T 8 91

A)21346897510 B)39428105176

[

A
0

(©31571042698  (D)61432587910

45. Direction : A word is represented by only one set of
numbers as given in any one of the alternatives. The
sets of numbers given in the altematives are
represented by two classes of alphabels as in two
matrices given below. The columns and rows of
Matrix 1 are numbered firom 0 to 4 and that of Matrix
I[I are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next
by its columm, €.g., A can be represented by 01,14
etc. and O can be represented by 39, 67 elc.

Similarly, you have to identify the sct 10r the word
PEARL

forder - wqmmmm—qua!am e

I, ST B Rweal #f @ few v o Ry s

1 Rt IF R 7w wEar-wweg s & &) at

EaRT T 1T &, S T S e arw o sreggt F

1R 1 & Fara R URT R e 0 T4 #H

n%%aﬁ?suaq\g IL&T 5} 9 g 3MeUgl W Uas 318

Y ger suE Ufda 3tk arg F T HE&T ga@rT

ST ST Waal €1 331eor S faw A Y 01, 14 3nfy.

EaRT SAUTAT ST §FHAT § qUT O &1 59, 67 30fE q&@rr |
gefrar SmaEar 21§ OtE ¥ e wiw A R
yieq PEARL & 8T Hog &I vgaraar £ 1

Toct Enrm Ma 42n270%
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(C) 00, 55,22, 11,9

46.

47.

(A) 00, 66, 14, 32, 56

(A2

©)6
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Matrix- 11

WMatrix - 1

&AE- 1 o 0.

ol1]2]3][4 AAEBE
ojelalclr]Z] | 5| ElM]| LiN{O
1|GIR|Z|PlA|{6|L]E| O{MIN]
AHEBEGERIEEEED .
F|AIGIRIZIPIISIM|O|M]E|L
4IR|Z|PIAIG|I2|MILIN{OJE

(B) 12, 88, 43,32, 89
(D) 13, 77, 30, 14,88

In a ceain code, 253 means books are old, 546
means man is old and 375 means buy good books .
What stands for "are " in that code?

Rl @V2 3T 253 35 1 ¥ books are old, 54651 32t
& man is old 3T 3787 31% & buy good books | &%
Eﬁ?ﬁ’"arc REaT T &7

®B) 5
)4

A train starts from staion A and rcaches B 15
minutes late when it moves with 40 km/hr and 24
minuies late when it goes 30 kmvhr. The distance
between the two stations is

Teh Yoramisl FUA A U Toar YF e ¢ Ao

. g 40 Rl ofY der 7Ty A wed £ e B

48.

(©) 18 km / 18 §aiF

(A) ROME

(C) MOUSE

a3 15%:{3%#@% 31T S 30 frel ufer
ger h wifa | gaar g, o 24 ﬁmz&i’t#qgamih
&t et & fa gl Prasir g2

(A) 16 km / 16 fralr (B) 24 km / 24 fpely

(D) 21 km /21 Al

Fgom the given altemative words, select the word
which cannol be formed using the letters of the given
word:

AeEaiei@d Aol A ¥ ag vieg gfae, st Re are
Qe & ST T ST e A AT ST Wbl
CUMBERSOME

(B) MERCY

(D) SOBER

49.

(A) 1

4

i
5 & Doctorsidier ~
4 3 1512 3 OFIUQMISIM“
¥ Marxyied Peopk: / -
Dfaﬂﬂ"raﬁu

Which number indicates doctors who are not
marmed?

wler A wEar ¥ s @ gt & 9 Rafe
A g?

®) 3

®)6

50. If a mirror is places on the line MN, then which of

the answer figures is the right image of the given
figure?

afX u& gdor & MN Ywar g war ), ar & S
Sea Impiarat 3 [ @i W 3y ae Inpfa @
i afafera g
Question figure: / 9T HTFHaA:

. nt
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PART-B : GENERAL A“’ARENESS (-
WETA FTAFRY)

S1. Intemal economies / AR Yo
"~ (A) arisc when there is expat‘;sion in interpal trade.
T il & ore 3N AT A Ryargiargl
arise when there is expansion in an industry.
aagia & ora el 3o A Reagar g
aris¢ in an cconomy as it makes progress.
ICHETAMH gIa e oY S AT WA FaAr g |
accrue to a firm when it expands its output.
63 & d4 gid & ST a8 39+ 341G @ AT
S g4~
52. X-rays canbeused
Xt (uara-Y) @ gAEr e fear s
Hehdr 27

(A)

(®B)
(©)

(D)

to detect defects
diamonds.

Wwﬁmaﬁﬁqummm

for cutting and welding of metals. il B HICT
R AT T

to detect heart dismscs;{m 3T &6 St SAiiet |

to detect gold under the earth. e & i Gier
T Gl SaleT |

33. The term brown air is used for

T3 UAT g &1 9T fhwss fore fhar sirar 87
(A)  Sulfurous smog / WEHT 3T
() Acid fumes / 3r5clra &3t
(_(:j Ph:}tochcmical. smog / YT eie ﬂa.‘!ﬁ
(1) Industrial smog / 3iteifETes (il

54. Most commonly used bleaching agent is

ztd%mﬁﬁwmmw
Far &7

(A) Sadmm chloride / QST Faliuss
(B) Chlorine / Fatiler
(C) Alcohol / Tomiger

in precious stones and

()

(©)
()

M) Carbon dioxide / Sid ER3iFARE

55. Which of the following river docs not originate in
Indian temitory?

%Fﬁa#ﬂaﬁ?maﬁﬂmsﬁﬁaﬁaﬁ
fPremear

(A) Mahanadi / #giidy  (B) Brahmaputra / qEATH

(C) Ganga / FiaTi (D) Santyj / Werers

56. Which of the following is ¥eta Union Territory?
PFafai@a 7 @ s §g a7 76 87
(A) Nagaland seTIelE (B) Puducherry W

(©) Lakshadweep watedia
(M) Padra and Nagar Haveli &30 04 19T ga oy

7. The Panchayat Samiti ranains accountable for its
functions to

dJarna oAfa BFas ufld 3ma et & R
SaTEcg alara?

(A) Zilla Parishads / TSer aitvig
“(B) The G:“am Panchavats and Gram Sabhas 3T
STt 3 T el
{(©) Janpad [’nncha:}ats / SeTYE s
(M) Anchal Panchayats / 3fi<el Garaa

58. Which one of the following animals belongs to

mollusca?

ee1 & O SleT O Sirerax & g9g AT T 87
(A) Halioiis/ $RARE ®) Hare / @w@ier
(©) Hydra / gizzr (D) Hyla / grzom

59. Outside the nucleus DMNAYs found in
FafFaTa & @igt DNA 5g1 faan ?

(A) Endoplasmic reticulum / 3ia&ed sifaer ,
B) Golgi bodies / 3itesl Fr,
(©) Mitochondria / ATSEIHIeSaT
M) Riboseme / TEHWHS

60. Photcpcri;:dism affects
Afcaeiival Y gaiiad sl g?
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(A) Fruiting/el Tieoie! :

(B) Vegetative growth / aaEafel 331 -

(C) All of these / g (D) Flowa-ingiﬁf@aﬁ_
il i - -

61. The maximum fixation of solar energy is done by

HIT Foit 1 ifsan Rulieror fas garn fFar -
el 87 :
(A) Green plants / ¢ (B) Bacteria / Sharoy
qrea .

(©C) Fungi / svaes (D) Protozoa / GieTSHHT

62. The velocity of sound in moist air is more than in dry
air because the moistair has

31T T 3 eafer FT A3 Y AT B oA I TOF

grar witfs 3ms arg 3

(A) less pressure than dry air. & ary &y e 3
ara HA AT g |

(B) less density thau dry air. U5 G H gorar A
Helca &H gl g £

(€) more pressure than air. ¢ arg &

' #ar@rlarﬁﬁ i‘i?n%:hy S

(D) more density than dry uir. USH AT I AT A
geica e glar gl

63. Whal happens when a drop ol glycerol is added to
crushed KMnO, spread on a paper?

S 9aY 9¥ e Hefora KMnO, 3 Waadar &
s 4 e T ., i v e 87
(A) There is a_crackling sound. SeweT & 37TaTsl
HGisdl gpg
(B) There is no reaction. ﬂ%gﬁm?{ﬁ giarl
(C) The paper ignites. ﬁ'q‘r‘gaw?r STar &l
(D) There is a violeat explosion. f§uss AEwe gar
g1

64. Kerala is famous for the cullivation of

T Pradr @d ¥ e aRigd?
1. Coconut / AT 2. Black-pepper / &rely-fA<

10

3. Rubber / T@% 4. Rice / Traer

- (A 1,2and4/1,2304 BB 2, Fand.ar2, 3 3ikca

(©) 1, 2and3 /1,230 ®) 1 and4/1 3874
3

65. The legislature gains a-priority over the executive in
e F [ 9 H G 3F SrEafae &

(A) A Presidential 'GO\-’CITII‘I}CTI; % T&qﬁ'm
(B) A Parliamentary Govemment / 8T GIFHT
(€©) An Authoritarian Government / 3if&¥FRETEY
TR
-(D) A Federal Government / Hefi?1 TREHIT

66. The legislature in a democratic country can influcnce
public opinion by 3
dieaiiae 2 3 AR o 7a @& B gar

(A) Focussing attention on public issues & el
QY AT Shiod Fh |

®) Granting rights 3SR g&IaT S|

(©) Defining the duties of the citizens FA R &
dovedl @t TR |

(D) Enacting. non—controversial laws 3ffaaereie
I FAT

67. The ship building yard-Mazgaon Dock is located at
dier fAAToT 48 - e sie wel T 27
t
(&) Mumbai / sgFas (B) Kolkata / selesrar
(©) Vishakhapatnam / ﬁan@rqz;m:
M) Kochi / srt

68. The South-East trade winds are attracted towards the
Indian sub—continent in the rainy seasen due to

ot - gdl saaies gard arRer & stwa &

. ARANT 39 Agledig A ﬁa—aﬂ:ﬁaﬂw ST gidr
& il
(4) the effect of casterlics .
gt gar3it & wama
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(B) the presence of low a!mosphenc pressure over
th-—-W%l India

3cav- Wwﬁmmm#@#m

(€3 the effect of Northen—£ast trade Wil'tds
- seal-df smalis gani ¥ wenal =

(D) the development of cyclone over the equator
T W1 IX FHATd & aetel A |

69. One of the features of a frec market economy is

e ST Jrdicaaedr it U Afrsear ur 87
(A) rationing and pricecontrol / Trerfeiar 3 Hiwra
G e
consumer’s sovercignty / STSEGT e

public _ownership of factors of production /
SATEE R P dlen Taridca

(D) active state intervention / AFHFT T gEadlq

70. The longest continental Railway in the world is

farear 31 wad oid wgredidiar Yord ter W2
Pacific Railway Sanisadsr Gafhs

(B)

(©

(A) Canadian

e
(B) Trans Siberian Railway Zi® @iga R {@d
(C) Trans Atlantic Railway Zi¥ Jediies Iad

(D) Canadian National Railway sanifa<et ;}%ﬁﬁ-‘?
wa
71. Allantois of Embryo helps in
§70T <1 3RS R wgTares gich 87

(A) digestion / qras (B) protection / Hy&oT -

(€) respiration / g&#eT (D) excretion / 3c@ae ¢

72. Which hill stations name means place of the
thunderbolt?

fRyFdTeiiaa J A &a gadia T2 & 097 &1 352
TIUT AT 2?2

(A) Darjeeling / (B) Oottacamand {
(C) Shillong / TRieiier (D) Gangiok / 3iwieies

73. Rearranging and allocaling space in memory to
provide for multiple computing tasks is called

i1

ACCTIT FFGICdT TP & Tt AANY 7 €9 &
QAfAearH 3T IMace o1 Far mg?

A Mulnprogammmgﬂ'&aﬁznﬁr

(B) Multitasking HedY EriTahar

©) Networking sicafepsr

(D) Memory Management HRTY SAasic

74. The graded profile of a river course is a
Hfrnﬂﬁ'a?ra’rq—-ﬁuﬁsmﬁ?

(A)

smooth curve in the Tower course.

e 7 A et aw

smooth curve in the middle course.

mey 7t Pety g

smooth curve from source to mouth.
I | IE o feraier as

smooth curve in the upper course.

Fa9 7Rt Pt 5w

75. In the national context; which of the following
indicates Macro Approach?

u@uaﬁﬁﬁmﬁﬁaﬁﬁmw
ZiSemnivr & etar &?

(A) Tnflation in India. / 27T o1 eT-whI

(B) Exports of Mangoes to UK. /3. @l 31T @1
e

(©) Income from Railways. / 3e1d I 314

®)
©

@)

(D) Sales of Bata Shoe Company / &rer QU Al @1
: E]

76. Agha Khan Cup is related with which of the
following sport event?

3TN @l &9 SFefaiaa 7 O g @ ¥ afaa
29 .
{A) Table Tennis / Eaer
FA T3 B
{C) Hockey / gienr

-(B) IFootball / q;rl?.ro =1r

(D) Cricket / forare

77. Which among the folloWing is not a Bretton Woods
Institution?

ﬁmﬁﬁaﬁ#mﬁmmﬁrmwﬁzﬂ

(A) Orga'usanon of Economic Coopaation and
Test Form No. 1208763

#

Downloaded from SSChelp.in


http://sschelp.in/

Downloaded from S

Development (O.E.C.D.)
3R wedeT T e "@ass (0.E.C.D.)

(B) Nonc of these 43 W His wal
{C) World Bank Taeg 8%

(D) Jdntemational Mo:ieiary Fund (LMF.) 3iaisdia

T Y (LMF )
78. The least penetrating power ray is

A T Aterd HLoT Hie W 8?2
- (A).o —Ray / o—ThoT B) g Ray / g-FH1oT

(©) X-Ray / X-fFyor (D) b —Ray / b-f&3oT

1‘9- The birthday of which of the following leaders is
celebrated as-Teachers Day in India?

e 49 Fw Jar & SeARkaw SRa i
Rrees Raw & w1 7 AAT ST 87

(A) Lala Lajpat Rai / STelT oo

(B) Dr. C. Rajgopalachari / 2. 9r. .'{Ism’iqmml:fr
J.(C) Dr. S. Radhakrishnan / 2T. G‘{T‘m
"(D) Dr. Rajendra Prasad / 7. TGotes wdiG

80. To whom the the A thing of beauly is a joy for ever '

is attributed?
Qﬁwm—uﬁwvmmmmﬁmﬁ

&7
(A) John Keats / SiisT hicH
(B) Charles Dickens / =iest 2%+
(©) William Wordsworth / faforasr asuad

(D) Jonathan Swin ! Sisreret Tawe

81. Sink hote s a phcnommon of IOpography
Srer e fom fhw gs m@ﬁr # arl S

&7

(A) Karst / g1 &7 (B) p1 am.f'.i“‘d;r‘?
(O) Desert / HEEA (D) Tundra / €37
8§2. Match the following : '
1 11
A. Ascorbic acid , 1. Photosynthetic pigment
B. Chlorophyll 2. Quencher

SChelp.in

C. Carotenoid 3. Enzyme
D. Superoxide dismutase 4. Vitamin-C
ferratatare o e Hiere:

X - -
A TS RIS - | GSIREReST e
B. a@idfeer T2 aAF -
C. FReATus 3. TeolieH

D. guR-3iferaigs Bwgew 4. Raf@a—=i
(A) A-4,B-1,C-2,D-3 - (B) A4,B-2,C-1,D3

(C) A4,B-1,C-3,D-2 (D) A-2, B-4,C-1,D-3

83. Which onc of the following pair is nol comrectly
matched?

o=l 3 & e a1 goo Gé A g @
(A) Harshvardhan — Hiuen Tsang g9qtied — gael
Hiar >
(B) Chanakya — Chandragupta TT0Te — dgeo
(©) Akbar — Todarmal 3fEaR — 2B

() Vikramaditya - Chaitanya f@saiiges — dawa

84, If the President wants (o resign from his office, he
! may do so by writing to the

af; wegufa 3r9et g9 & cgeraT SN Ae o 98
o foraesy Yur &% uahd a7

(A) Vice President / 3u¥rsgaia
(B) Speaker of Lok Sabha / olies &1 31<UaT
(©) Prime Minister / U&= HAY

M) Chief Justice of India / SRt & & FarATENY
85. Which of the following is FALSE with respect to
rain water harvesting? / 997 Siel @dg & dad
fefarae 7 ¥ 7T T 87 '
(A)

It increases run-off losses. -

g agTa 3 glet arell gTieidl Sl Serr g |

It helps meet fising water demand.

T Siel T FEch g5 A9 U HE H Wgrs
garg) |

It helps raising water mﬂﬁ

g STl T I Solel 3 Hgrah grar e |

It is a device of waler conservation.
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UE T TCEAOT HTAHA 1
86. The award given for oulstandmg performance in
spotts is

fﬁﬁwmﬁ%fﬁvmﬁﬁm
"R AT 87

_(A) Dronacharya Award / IV JIEPR .

(B) Padma Shri Award / S04 REHI

(€) Bharat Ratna / $TR& &t

M) Arjuna Award / 315[# GRESR

87. Flectnie cumrent is measured using which of the
tollowing instrument?

ﬂ@?w_ﬂﬂmma#ﬁﬁm

ESCEL 2l m;‘m e foar sar g7
(A) WNUndc: /ateder BY Ammeter / ¥afiex
(C) Voltmeter /(D) Anemometer /
areedliey AT

88. What is used to identify whether a data word has an
odd or even number of 1°s?

grer @S | &1 TAwa a1 uH Eyr 8, UE A9 Sl &

faw feaer 99T fhar siarg?
[(A) Zero bit / ST Taz (B) Sign bit / ;rn's?r'faz.

(©Canybit /58 e (D) Parity bit /4RA R

89. It is casy Lo burst a gas-filled balloon with a needle
than with a pail. It is because

I IEER T ARG B g 7 g A b
30T w4l glar g?

(A pajl is.more longer than needie. SIRGET §E

\ g%imﬁarﬁaﬁaﬁﬁm%l

(B) nal cxats more pressure than needie on the
balloon.
A IEAN G q$ e A S
gmari‘-*l _

(€) gas is reactive with the needle. q3 & Wy
fas afafraiia gl 81

(D) needle exarts more pressure than nail on the

balloon. F$ I[EaIX 9L #iger Y qoven A Hiaw
&ia STl gl

90. Hydrogen peroxide is an effective sterilizing agent.
Which one of the following product results when it
readily loses active oxygen?

. ERRSE SHiwares e g e siiests

%;%mﬁ:ﬁaﬁ%aﬂwmmmqﬂma—m-
¢ 9 3T acnid Ghhy Tedisis @en &Y S arn
g? =

(A) Water / grefy
(B) Nasant H}'drogmc'-#@-}@ﬁﬂ
(©) Hydrogen / gzgicer  ~ D) Ozone / 3w

91. The greatest king of the Pratihara dvnasty was

QiRE U ST ARATH GAT it 2417
(A) Vatsaraj / a0 (B) Nagbhatta Il / sirsg
1§

(© Bhoj (Mihir-Bhaj) / $iter (FAIf2T siteD)

(D) Dantidurga / ﬁﬁgﬂ' h
92. Equilibrium price in the market is determined by the
AT A Helos FrAd &1 Fdior B fear srar
&7
(A) equality between marginal cost and average
cost. At a3 v o & o
AT
cqualily between average cost amd average
revenue. 3ied @R AR itad vorea & di9
HHATeAAr |
equality between total cost and total revenuc.
WA AT I AHT Woied & dia qareral |
equality bgtween marginal cost and marginal
revenue. WiHTE werd 3R @idia Uoed & dig
el |

93. Where was the first confercnee of SAARC (South
Asian Association for Regional Cooperation) held?

Zeiw (EiEor vitiars ety wgaier Wu) @ gy
TFHOA HEl gamar? =
(A) Kathmandu /stonig  (B) Colombo / wieial
~
: M) New Deahi / @

e

®)

©

(D)

(C) Dhaka / g7
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94. I’aoxyacelyl nitrate is a

ATGLT FAT 7
(A) Sccondary pollutant / 3itoT U8
{B) Vitamin/ Feif@=
{C) Plant hormone / JIZ<T gr#fa -+

M) Acidicdye/ tRR® g

95. 'Who was the founder of Lodhi dynasty? -
cirely a1 1 WEAAS Fiel UT?

{A) Bahlol Lodhi / ageirer aireff
(B) brahim Lodhi / Ssréra arely
(©) Sikandar Lodhi fﬁma‘rﬁr
D) Daulat Khan Ldﬁh: / araa @t a‘tti’r
96. Gross National Product — Depreciation Allowance =
? / Wl TS 3IE — Hedga G =2
(A) Personal Income/ dafFdaes g :
(B) Per Capita Income / 9fa saEa 3ma
(©) Net National Product / fraer wsErT 3eurg

(™) Gross Domestic Product / Hevel ] 3¢916

97. In 1939 Subhash Chandia Bose was clected as
President of the Congress Party defeating

1939 &, gwwds a Bl guey sidw ardf &
LT = AT A?
(A)  Jawaharlal Nehru / SE@TelTor A8®

(B) Pattabhi Sitharamayya / ggTfar @iareizar
(C) Maulana Abul Kalam Azad

FHITAT TG FeATH TSI
®) VB Pael /&Er wd

98. Ice is packed in saw dust because
a' @l gure 31 e 1 fsar srar 82

(A) saw dust will not get melted easily. aer
3marE @ W= «di &an

(B) saw dust is poor conductor of heat. et FSAT
& reTeidh gial ol

(C) saw dust docs not stick to the ice. Wi{ﬁ o
Rasarsgrg!

14

(D) saw dust is 2 good conductor of heat. |uar

SSHT & AT giang |
99. Jallianwala incident took place at
Siferaiaren aee Fgige oMf?
(A) Anritsar / 37wt B) Lucknow / wr@si=
(©) Allahabad /gemgrare (D) Surat/ gz

100. Amimal protein is called first¢class protein because
it abfwrmﬁmmmmm
& &t ug

(A) delicious in taste @i+t F TR @lar &1
(B) cheaper in the market SToHT F Wearaar &1
(©) casily digestible gare @1ar | .

M) rich in essential amino acids 3ifar 3l
NEERIRITSta iR
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PART-C : QUANTITATIVE APTITUDE (37317 :
gREoneRs TR

101. The sides of a triangle having area 7776 sq. cm ace

m the ratio 3:4:5. The perimeler of the tnengleis

7776 a3 WY &I & U T B 3ot
Figre 3:4:5 § 1 st & R gar g2
(A) 412 cm (B) 432 em

(C) 400 cm (D) 424 cm -

102. A and B together can do a piece of work in 6 days,
If A can alonc do the work in 18 days, then the
number of days required for B to finish the work is

A 3 B 3 13 o1 Wast 6 BEt F st asa
€1 ufe A 38 & F IHA 18 et i g+
ehdl @, df B 39 S # fhaw Rat 3 g s

Hharg?
(A)9 ®B) 15
()12 : () 10
103. 2v —ky + 7=0 and 6" — 12y + 15=0 has no

i solution for

2¢ —~ky + 7=0 m(u — 12y + 15=0 & fFEs

T &g gor gl 87
A k=1 B k= —4
k= -1 (Mk=4

104. i o= = 332, y = 333, z = 335, then the value of

T —3z§rzls
afs x =-332, 0y = 333, z = 335 & A
K4y 42— 3xyz @1 HieT @4t 22

(A) 8000 : (!;) 10000

(€) 9000 (D) 7000

105, 729 ml of a mixture contains milk and water in the
ratto 7:2. How much more water is to be added to
gel a new mixture containing milk and water in the
ratios7:37
729 Tl s 3 7:2 & e 7 gu 3 aie
F1 3 Thaar aer 3R Rerar sie Swd = v

15

ﬁmﬁqﬁﬁhﬁm&m?ﬂg’tm}

(A) 60 ml / Yt ) 71t/ B
(©) 52.ml /Brelt ®) 81 mi £ Fraly

106. The sum of four numbers is 48. When 5 and 1 are
added to the first twe, and 3 & 7 are subtracted
from the 3™ & 4™ | the numbers will be equal. The
numbers are

mmﬁﬂmﬂﬁmmmdmﬁﬁ
5 3if 1 S e, sﬂieﬂaﬁaﬂ?‘iﬂ:ﬁmﬁfﬁ
A 3 30 7 gerr S, A SEead e @7 v
FHEAmTE

(A) 6, 10, 14,18 ®)5. 11,13, 19

L (©)9,7,15,17 M) 4, 12, 12, 20

107 If in @4sin20=1 then cos? B+cos* B is equal
10
afE  sin 0+ sin20= 1 & o cos® B+cos*®
fras deae?
(A) None / 1S a1éh (B) sin 8-
cos2@
©) cos?y ™1

r
sin ©
108. Eighteen years ago, the ratio of A's age to B's age

was 8:13. Their present ratios are 5:7. What is the
present age of A?

18 o gge A 3R B &I 3y & 3T 8013 o)
ST 3T T TS I 57 F1 A & adarer
3y feraedl 87

t
(A) 60 years /& B) 70 years / &

(©) 40 yems /5% (D) 50 years /g%

109. A shopkecper bought 30 kg of rice at the rate of
270 per kg and 20 kg of rice at the rate of ¥70.75
per kg. If he mixed the two brand of rice and sold
the mixture at T80.50 per kg, his gzin is

e GEI=iaI o mﬁ'ﬁm arad 0 wia BeehanT
@rex ¥ 3l 20f@k.anm -':i'azm?s-;rﬁrm:;m
1 X ¥ @harl o ag A+ SR F et w
@rom car § 3hT ¥80.50 afy feam &1 g & daar
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(A)Z 450 (B)T 435
(© T 510 )T 525 .
Directions :

Study the following bar diagram carefully and
answer the following Four Questions: -

The number of the production of electronic items
(TVs and LCDs) in a factory dunng lhc . period from
2009 to 2013.

Frdar « BrerfATaT 3T &1 CamTgd St
&% AR faw 1w 4 wat w1 e &)
mﬁruﬂﬂ_sﬂaﬂﬁ;aa’f @d’taﬂn‘miﬂg’r)
&1 a9 2009 ¥ 2013 F Icuca:

E] TVS S ¥eih
. BALcosimanh

110. The ratio of production of TVs in the vears 2009

and 20101s
a¥ 2009 3{iX 2010 3 Ay & ITTEST &1 T

(A) 6:7 N - ®)2:3

(€©)7:6 ¢ (D)3:2

111. The total number of production of electronic items
s maximum in the year

gaagifoie Fal & ScGe S Ho wedr B af

* F wad it g
(A) 2013 (B) 2011
(C) 2010 (D) 2009

112. The difference between averages of production of
TVs and LCDs from 2009 to 2012 is

¥ 2009 3 2012 g AT 3l vord e 3o

& 3ftaa s aiav
(4700 (B) 800 ’
(©) 900 (D) 600 - .

113. ‘The ratioc of production of [ CDs. in the year 2011

and 2013 1s
a§ 2011 3iit 2013 3 vm{fra a‘: ITEA &
T 8

(A) 3:4 ®B) 2:3

(C) 43 ) 1:4

L]

114. A ship after sailing 12 km. towards south from a
particular placc covered 5 km more towards east.
Then the straightway disiance of the ship from that
placeis

TE SIgST U T ATy @ gf@or @ 3w 12
Rl SroEET S & are aF Y 3 S e

IGET WA 21 Sgel W 3| Fure @ el gd
o 87 1

(A) 15 kmv/fRady B) 13 kivfarsdy .

. (©) 11 knviEaiv ®) 18 kiR .

11S. In A ABC, a line through A cuts the side BC a1 D
such that BD:DC = 4:5. If the area of AABD =

60 e 2, then the area of A ADC is

ﬁABCﬁWWA#WgEgmBCa#D
¥ W YR dedl & & BD:DC=4:5 g1 ufe A
ABD T 89%d = 60 Tt 2 &, a ADC &1 &lahel

FaTE?
(A) 90 om? ®) 75 cm?
@50 ¢m? M) 60 cpi?

116. If a clock started at noon, then the angle tuned by
hour hand at 3.45 PM is o

uﬁmuﬁrﬂmﬂaa—rlmrﬁ:m ar
Qe 3 asiant 45 eTe uR g i S 1 HioT F=2m
grm
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®) .

@) 104

1
97 —°
2

1

© 112 —*°
2

(D)_ll?

o

R b=

117. The length of the portion of the straight line 3x
4y = 12 intercepled belween the axes is

ST 3x + 4y = 12 & 3U 379 & sears Beas

& ST 38T & dia AU Sl 87
A7 (B)4
(©)3 (D) 3

118. Allowing 20% and 15% successive discounts, the
- selling price of an article becomes ¥ 3,060 then the
marked piice will be

20% 311X, 15% I IeaRica @< &4 & a1g U avq]
@I [AFa-7pa 3,060 g Jrar &1 3 3ifea

e e gram?
(A)34,000 (B) T5.000
(C) 74,400 (D) T4.500 »

119. Choose the incorrect relation(s) from the following:

frrafat@a 3 sroa fidea s a4
@) f6+-2=54-3
(i) V642 < 5+-3
(i) 6 +2 > 543

(A) (i) ®) ()
(©) (i) and/31Y Gii) (D) iy and/3i1 Gii)
Directions :

The lollowing pic-chart shows the sources of funds
to be collected by the National Highways Authority
of India (NEHAI) for its Phase II projects. Study the
pic-chart and answer the following Three
Quecstions: ’

Fraiaiad o-meE & aRaT & ST [T
Tf=OT g@arT 39 avor 1 it gR=Esenat &
fore Fdia 1 9 ARl @R & B W g
AT g1 TE-UTE &1 AL &Y X Br w0 3
4al @l Seata: =

iy

-

"
Markei
Borrmwing

120. If the toll is to be collected through an outsourced -
agency by allowing a maximum 10% commission,
how much amount should be. permitied to be
collected by the outsourced .agency, so that the
project is supported ‘'with T4,910 crores?

I 10% 1 F3R0ET SHT ST Tordl & Freda T O
Teqe ayqe fear swer @, o aew ol @
el TR T el @ 3pafa & s arfze
TSI aREorE & 94,910 S8 @ gErar e
aen?

{(A) T 5,401 crores/erdie

(B) ¥ 5,827 crores/eyis

{©) 3 5,316 crores/&FmiIE (D) 2 6,213 crores/aiz

121. If NHAI could receive a total of T9,695 crores as
External  Assistance, by  what  percent
(approxamately) should it increasec the Markel
Borrowing to arrange for the shortage of funds?

Al I & TS ASTART FERT A aey
WETAdl & ¥ # 9,695 s Wity &1 &%, ar
SH! AR & Sl &l qu et & e aem Hor

fra= wiaeia (Soreen) ager aige?

(A) 7.5% . (B)6%

(C) 4.5% (D) 8%

122. The central angle comesponding to Markel

Borrowing is :
ISR T & 6T S il 10T

(A) 52° (B) 137.8°

{C) 192.4° D) 187.2°
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3. i 2423 = 2; 5" then the simplest value of x
is
aRy 2+xf3=— I?@xﬂmm-
FALR?
A) —2 {B)2
€) —1 {_D)l

124. The average weight of 15 oarsmen in a boat is |
increased by 1.6 kg when one of the crew, who
weighs 42 kg is replaced by a new man. Find the
weight of the new man (in kg).

wa’m#lsaﬁaﬁrﬁsﬂmmmmlﬁ
5300, @ STaT & o 39T ¥ 42 R =T are)
ﬁaﬁma:mwa@umﬁﬂm%l g

eafod &1 astet (fFam ) sma =4
(A) 43 ®B) 65
(C) 67 (D) 66

125. Walking at'the rate of 4 kmph a man covers ceitain
distance i 2 hrs 45 min. Running at a speed of 16.5
kmph the man will cover the same distance in how
many minutes?

wa‘%4ﬁﬁaﬁmﬁ?ﬁ#aﬁmwi
Tiaa gl @ 2 6 45 Y 3 a7 @war &1 165
ﬁ:ﬁrqﬁﬁaﬁrzﬁ#ﬂsﬂg@ﬁmm

&3 @ fba=t Aere 7 aa e
(A) 45 min/ FA=iT (B) 40 min./ @Aae
O3 mii/BEe . () 50 min/ e

126. A tangent is dravwn to a circle of radius 6 cm from a
point situaled at a distance of 10 ¢cm from the centre
of the circle. The length of the tangent will be

CUAI B F TH FaFFx A 10FM. Frgd

9T fPua v Tig @ v vaear gea a7 @i

Sitelt @ | T fr eFars fraarg?
A3 (B) S cm

(C)4 c:n (M) 7ecm

18

127. If m= —4, n= —2, then the valuc of
e m= —4,n= -2 ar
m> —3m2 +3m +In+3n2 +n3is'7%r A B
|
“(A) — 126 - (B) 124

(©) 126 ) — 124

128. A 10 m long ladder is placed against a wall. It is
inclined at an angle of 30° to the ground. The
distance (in m) of the fodt of i'he ladder from the

wall is (Given /3 =1.732) -

s 10 3 e WY v faw F @y @ A
m?ﬁ%luﬁﬂ,jiﬂ\*so'%ﬁvrqtsﬁﬁrgé?lam
AW 3 Tor B g G ) Rrerel 22
@aarfe 3= 1.732 %)

(A)7.32 ®) 8.16

(C)8.66 - ) 8.26

129. Atap can cmply a tank 1 in 30 minutes. A sccond lap
can empty it in 45 minutes. If both the taps operate
simultaneously, how. much time is needed to empty
the tank?

T ool 30 =T oF veh & ol wWrell sy wgeard |
U U STl 39 45 e 3 @il T uewar 21
e ¥l #Tol Ar-ury @Wer v s, ar F wrdy
e A Forer=r @ S@ten?

(A) 30 minutes / fiysie (B) 18 minutes / a1

© 14 minutes / Rzre . D) 15 minutes / e

130. If the arca of a circle is A, radius of the circle is r
and circumference of it is C, then

AR, T god @ STahe A B, gear & Brsar r g 3kt
‘aRf C@.ar

(B}IC=.2A

@A C
A 2
9 oo
© P ™) &=c
4 r
131. Find the valuc of e
tan 4° tan 43° tan 47° lanas"aarm:rmaﬁ'
(A)2 ®) 2
3
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numbers?
agell n Spfas WEATHT 1 WHIL ATET &1 £7
(A 52(n+1) B) n+1
2 - 2
(©) n(n+1) D) 2m+1)
2

142. A square is inscribed in a quarter—circle in such a
manner that lwo of its adjacent vertices lie on the
two radii at an equal distance from the centre, while
the other two vertices lic on the cirgular arc. If the
square has sides of length x , then the radius of the
circle is
Ueh IqUty ged A U Jidai e uER
Sad Hordst &l MY e F warer gl R &F Baarait
o3 & S ST s acder goarer g A st

] 1 3ot Prarars <3, dF gea Hr Ber g

@A) . ®) 2x
I

© 16x ® f5x
n+4 'ﬁ

143. Two poles of height 7 m and 12 i stand on a planc
ground. If the distance between their feet is 12 m,
the distance between their top will be

T g A 9 7 ¢ 31T 12 A wEars & ar
I o § ) e 39S aw o gl 1290 gL ar

Sereh AT F gk gt Frasit geie
(A) 13m ®)19m
(©)17m (D) 15m

144. In a parallelogram PQRS, angle P is four times of
angle Q, then the measurc of 2 R is
PQRS FHIGHGIHST 3 HIOT P HioT Q T 9K AT
2., aF £ R &1 #T &Far 87

(A) 72° B) 144°

(C) 36° (D) 130°

145. The population of a town increases by 5% every
year. If the presenlt population is 9261, the
population 3 years ago was o

U S A SreEar 9 as she sz e 81 AR
TAHT FAREAT 9261 B, aF 3 a¥ uga IASHEAT

R G R

20

Toraar oA
(A) 7500 ®) 5700
(C) 6000° ®) 5000

146. The numencal value of
cos? 45"  cos? 60° | tan? 30° _sin 2 30°
sin © 60° sin245 cot245 cot? 30°

& HEATCHS el & oy

-

o & ®T1
4 4
© 1 ® 1
4 2
147. The value of
1 - o~ . YRS
F-F6 Vo=, 452
1 1
- +— is )
(A) S : ®) 1
©7 @) 0

148. The maximum value of gjn 29 4-cos 0 is
sin Y0 +cos 0 T ITIEaH T &

(®) 3

(O 1
3
149. A pipe can fill a {ank in x hours and another can
f‘;lply it in y hours. The¥ can together fill it in (y >
USh NS Ueh & &l x Hel 31 91T Uaham & 3 e
3 9189 3W y Hel 37 Wil e a&ar g1 F el
Aot 38 Fhas GFa R FHAT 87 (Y > x)
Ay —x (B) =xy
i 4
®)x —y

m)2

€ xv
y-x

150. The marked price of a watch was ¥720. A man
bought the same for ¥ 550.80 after getting two

successive discounts, the first being 10%. The
second discount rate is
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PART-D : ENGLISH COMPREHENSION

Directions : - y =

In the following Seven Questions, out of the four
alternatives, choose the onc which can be
substituted for the given -words/sentences and
indicate it by blackening the appropriate circle [@]
in the Answer Sheet.

L51. A story in which ammals or objects speak and give

wholesome moral lesson.
{A) Parable (B) Allegory

(C) Fable (D) Legend
isz. A recﬁxrml-compn_lsive urge 1o steal.
(A) chplomama = (B) Insomnia

(D) Pnecumonia

(©) Nymphomama

153. Act of injuring anothers reputation by any
slanderous communication.

(A) Aberration (B) Defamation

(C) Misrcpresentation (D) Orchestration

154. Not suitable for eating.

(A) Uneatable (B) Tasteless

(C) Spicy (D) Inedible

155. Medical study of skin and its diseases.
(A) Gynaecology (B) Dermatology

(C) Endocrinology (D) Prthopaedics
156. A pcﬁ';(m who caters without any invitation.

(A) Burglar (B) Intruder

(C) Thiefl (D) Vandal

157. A process involving too much official formality.
(A) Red-Tapism (B) Diplomacy
(C) Bureaucracy (D) Nepotism

Directions :
Read the passage carefully and choose the best

22

answer to each question out of the four alternatives
and mark it by blackening the appropriate circle (@]
in the Answer %hect

;—4F!‘

PASSAGE {3 Questions)

The instinctive, natural way (o express anger is (o
respond ageressively. Anger is a natural, adaptive
response o Ihrcals it inspires powerlul, often
aggressive, feelings and behaviours, which allow us
to fight and to defend ourselves when we-are
attacked. On the other hand, we can't physically
lash out al every person on abject thal writates or
annoys us, laws, social norms*ind common sensc
place limits on how far our anger can take us.
People use a variety of both conscious and
unconscious processes lo deal with their angry
feelings. The three main approaches are expressing,
suppreasmg and calmmg. !."xpmssmg your angry
feelings 1n an assertive — not aggressive — manner is
the healthiest way to express anger. Beiiig asseitive
doesn’t mean being pushy or demanding, it means
being respectful of yourself and others. Anger can
be suppressed, and then converted or redirected. - -
This happens when you hold in your anger, stop
thinking about it, and focus on something positive.

158. How docs aperson naturally express anger?

(A) By defending onescif.

(B) By adapiing strong behaviour.
(C) By responding aggressively.
(D) By inspining powerful feclings.

159. Which one of the following places limits on how

far we can take our anger?
(A) Feelings (B) Instinct

(C) Behaviour (D) Law

160. According to the author, "how should people deal
with their anger?
(A) Expressing
unconsciously
(C) Expressing

consciously

(B) Express i
* aggressively

(D) Express it asscrtively

161. How, according to the author, can onc suppress
anger?

(A) By converting anger.

(B) By holding on¢'s

mnger.
(C) Byredirecting anger. %
(D) By lhin!:.inq about one's anger.
162. What does the author mean by being assertive?
(A) Being calm . (B) Being respectful
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{C) Being pushy (D) Being demanding

Dircctions :

In the Jollowing Five Questions, sentences arc
given with blanks to be filled in with an appropnate
word(s). Four altematives arc suggested for cach
question. Choose the correct alterative out of the
four and indicate it by blackening the appropnale
circle [@] in the Answer Sheet.

163. The deseited gm'dcn was infested . weeds.
(A) for (B) nto
(C) with {D) on
164. After your long illness I am happy o sec you
i | T, e
(A) up and down (B) by and by
{C) up and round (D) up and about ..
165. You must your career with all seriousness.
(A) follow (B) complete
(C) pursuc (D) direct
166. He went there
(A) with fool (B) walking on fool
(C) on foot (D) by foot
167. Making pies and cakes Mrs. Reddys
speciality.
(A) is (B) has
' EC) are (D) were
Dircctions :

In the following Five Questions, four alternatives
are given for the IdiomWPhrase underlined in the
sentence.  Choose the alternative which  best
expresses the meaning of the Tdiom\WPhrase and
mark it in the Answer Shest.

168. When 1t comes to dancing, he is all-thumbs.

{A) clumsy ¢ (B) a trainer
'

(C) lazy (D) an expert

23

169. The day the new produci was. launched, people
made a becline to purchase it.

*{-.
(A) rushed (B) refused
(C) were doubtful (D) wenl on-line

170. At his wils end, he turned to his old trade.

(A) Alter careful  (B) Not knowing what to
thinking T, . do, s
{C) Confidently "= {D) Overjoyed
171. He usually goes to bed*very carly and nscs with the
lark.
(A) al midmght (B) very late
(C) alter sunrise (D) very early

172. 'Their allempt to get back the stolen neckiace
_proved to be a wild-goose chase.

(A) uscless scarch (B) timely action

(€) wasc decision (D) delayed action
Directions :
In the following Ten Questions, a sentence/a part of
the sentence is underlined. Below are given
alicrnatives to the underlined part which may
improve the sentence. Choose ihe comrect

terative. In case no improvement is needed
lacken the circle [®] comesponding to "No

mprovement”.
173. The ser.,ond.piueon flew just as the Nirst pigeon had
flown.

(A) No improvement (B) had donc

(C) one had done (D) onc had flown away

174. He is waniing in a little chmmon sense,
(A) is lacking in (B) lacks

{C) No improvement " (D) necds some

175. Water and soil pollutapts find their entry into the
body through mgcstmn of contaminated water or
food.

(A) injection

of

of (B) digestion
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contaminated contaminated

{C) No improvement (D) passage of
- contaminated _

176. The old gnan has aom;_r_e_d experience thirdugh age.
(A) No fmprovement = (B) experienced

(C) developed experience (D) got experience
177. Mr. Mukherjee knows ten languages, isn't it?
(A) doesn't he (B) doesn't Mr. Mukherjee

(C) hasn't he (D) No improvement

178. Its high time that you go home.
{A) went ) -

-

(B) No improvement

-~

(C) gone (D) arc going

179. Mumbai is lamous because of its textiles.
(A) at : (BB) No improvement

(C) for (D) n
180¢. He lives far from the station.

(A) No improvement (B) off the station

(C) along way from the station
(D) away from the station
181. Drinking teais an English habit.

A) tradition (B) No improvement
(A)

(C) convention (D) custom

182. They spoke aboul the weather.
(A) said (B) talked "

(C) expressed - (D) No improvement

Directions :
Read the passage carefully and choose the best
answer to each question out of the four altematives

and mark it by blackening the appropriate circle [@]
in the Answer Sheel.

PASSAGE (5 Questions)

24

The crowd surged forward through the narrow
streets of Paris. There was a clatter®of shutters
being closed hastily by trembling hands — the
citizens ,of "Paris knew that once the<fury of the

- - people was excited there was-no telling what they
might do. They came to an old house which had a
workshop on the ground floor. A head popped out
of the door to see what it was all about "Get him!
Get Thimonier! Smash his devilish machines!"
velled the crowd.
They found the workshop without its owner. M.
Thimonier had escaped by.the back door: Now the
fury of the demonstrators ttined against the
machines that were standing in the shop, ready to
be delivered to buyers. They were systematically
broken up and destroyed — dozens of them. Only
when the {ast wheel and spindle had been trampled
under foot did the infunated crowd recover their
SCNscs.
"That is the end of M'Sicur Thimonier and his
sewing machines,” they said o one another and
went home satisfied. Perhaps now they would find
work, for they were all.unemployed tailors and
scamstresses who believed that their livelihood was
threatened by that new invention.

183. The aim of the crowd was (o

(A) drive

away

(C) kil Thimomer

(D) deswroy the sewing machines
184. The passage throws light on

~Thimonier (B) humiliate Thfmonier

(A) how dangerous an invention can be.
(B) how a well-meant invention can be
misunderstood.

©)
®)

why inventions should be avoided.

what mischicf an invenlor can do to ordinary
people. A
185. 'h‘lc people thought that

(A) their lives were in danger.
“ (B) they would be deprived of their livelihood

(C) Thimonier was mad.
(D) the sewing machine was dangcrous.

186. Shutters were being closed because.the shopkeepers
(A) wanted to attack the crowd. :
(B) wanted to protect Thimonier.
(C) feared their shops would'ﬂ‘c‘t}tslroycd.
(D) wanted to support the crowd. :

187. The crowd was protesting against
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(A) the closings of workshop.

(B) the newly invented sewing machine. o
AC) Thimonier for keeping the invention a secret.
(D) the misdoings of Thimonier. =

Direciions :

in the following Five Questions, some parts of the
sentences have errors and some are cotrect. Find
out which part of a sentence has an error and’
blacken the circle [@®] comesponding to the
appropriate correct optioqn. If a sentence is free from
emror, blacken the circle [@] corresponding to "No
Ermor” in the Answer, Sheet.

188. I really do regret not to leam to play the violin
when I had so many opportunitics to learn and
- practice in school.

(A) todearn’and practice in school.
(B) [Ireally do regret nol to learn to play the violin
(C) when [ had so many opportunitics

(D) No error _
189. I shall look forward to being with you sometime
next month.
(A) No ertor (B) sometime next month.

(C) 1 shall look forward (D) to lx.l:ing will vou

190. The govermment granted relicl payments ol 5,000
each to those who injured in the fire accident.

(A) Lo those who injured in the firc accident.

(B) rclief payments of *5,000 cach
(C) The govemment (D) No error
granted

191. Everyone of us should realise thal any ad of
neghigence will cause a great harm Lo our countrys
sccqril'.y.

(A) Né cror

« (B) agreat harm to our country's security.
(C) any act of negligence will cause
(1)) Everyone of us should realise that

192. By May next year | have been work;ng in this
mllccc for twenly years.

(A) ! have been working in this t..ollco{_

(B) for twenly years.

(C) By May next year (D) No ervor ]
(]
Directions : -

in the following Three Questions, choose the word

25

opposite in meaning to the given word and mmk it
in the Answer Shect.

193. Tremulous e
(A) Young (B) Healthy
(C5 Obese (I¥) Steady

194. Fake
(A) Wrong “(B) Real

2B
(C) Fanciful - (D) Ideal

195. Disconsolate

(A) Unprejudiced . (B) Joyous

(C) Thankful (D) Prominent

Directions : - ,
In the following Three Questions, qut of the four
alternatives, choose the one which best EeXPresses

the meaning of the given word and mark it in the

Answer Sheel.
196. _Devout
{A) Loval (B) Solemn
{C) Dedicated (D) Pious
197. Predilection 4
(A) Whim () Favoud
(C) Prejudice (D) Preference
198. Effigy '
(A) Imagery (B) Durnimy
{©) Reficction (D) Organ

Directions = i
In the following Two Questions, four words are
g.vcu. in ¢ach question, out df which only one word
is correctly spelt. Find the correctly spelt word and
mark your answer in the Answer Sheet.
IR
199. Find the correctly spelj word :

(A) Fasimmile (B) Fasimile
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(C) Facstmile (D) Facsimilee

200. Find the correctly spelt word :

(A) Aquarium (B) Acquerium

(C) Acquanam (D) Aquanm
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